A § HEIPHBEME BE RS
Ha -~ b EEMEH Hm o~ onEEEH
aB3+N2)+bJ2=6+3J2 > Hicka ~ b2 fE - Q+\3)m+n(\B3-1)=2+43 » =k m ~ n>
g -

AT RIVER 2E RS
(L8 2427 + 3418 + 2472 =75 - 1E58 376 + 24108 =54 —34/3 -



Ak FRASEX S2ERR

EXla>0 - b>0Ha+b=12 > 5>Kab 25K | KA 20 & REGETE—(EER - sOKIELER
E R REHERa ~ b2 fH - A A R THIAR > 3D SR AT e A R R ATt Ry ] 2

B 3% # &

1. Ha -~ biEHEE AQ+V3)a+(1-5V3)b=3+7V3 » Fa-b=

2. {LfE V27 /48 +75 =

3. Efla>0 -~ b>0Ha-b=12 > HI3a+b 2/ ME K
W/ MESE AR > a= s b=

4 B x BEHE x> 1 - ﬁzx+2+ﬁaqa%wgz% :




A

EAT A(=2) ~ B(8) ~ P(x) ~ O(y) Fy%&p EVUEL -

(1)K AB BBz A ~ B LA -

Q) PIEAB Y FH AP:BP=2:3 » 33k P2,
AR o

(3)# Off ABEE4: | H A0:BO=5:2 » 53k
O BEALFE -

53 250 RE =

BERR

EATAR-D ~ BQ3) ~ P(x) ~ O(y) F8ag EVUEL :

(1) 33K ABEEHEE R, A ~ B BEALHE -

Q) PIEAB FH AP: BP=3:4 > 53k P %%
AAREE o

(3) % O ABIEE4 FH A0:BO=2:3 » 3K



e E 1 REEREXRAENX B RS
S T R R A S TH AR R S
(1)|x-1]=2 - (1)|2x+1|=3 »
(2) |2x—1|=3 - (2)|3x-2|<4 -

EEPEAAZ REEASEA PE R

EHIAZFEN [ x—al<bZfE Ry 2<x<8 » Gk | BRIAZFEN|2x—a |2 bfiE Ky x =255
a~bZ{H - x<-3 > 3:Ka~ b 71H -



A ) )
SRR 1< | 2x—1| < 5 Ay BE S AT 448 2

BEEARSR

BERK
SRR 2<| 30+ 1| < 8 YL B R S 44 2

E 6MGE A7

45 (ab,a—b) TEHE =52 R - AIE: (azb,%) yagee

HRIR 7

SRR IRHIER

2ERR

%%&(a—b,%ﬂ‘f%‘ﬂl%[ﬁﬁ » HII%E (b—a,ab’) 1E
54 2R 2



EEMEME pEEE » PR 2E R

ELHT A(2,3) ~ B(=2,6) 543k 4~ B 1EL R, AB
ZAE -

EX1A(-2,4) ~ B(x,y) » &= A~ BZHER
(1,3) » &3k BRFZ 2 AB 7 f -

% 6 55 A% RELR 2ERE

T4 A(2,1) ~ B(4,6) © PEL{E ABIEES [ H
AP:BP=5:3 » 53K P ALFE Fyfa] ?

B A(-1,2) ~ B(3,5) » PEEAE AB b H.
2AP=3BP » &3k P AL By fa] 2




eALE .

LT = BE A(1L,2) ~ B(3,5) ~ C(-1,5) » HI :

(1) &k ANABC Z FEL»

(2)% D B PATINE T ABCD 55 VU THAL - 500K
DA -

SARELRTEITOER

2HERE

EALTH =B A(-1,2) ~ B(4,3) ~ C(5,4) > HI :

()3 D B EATVUER ABCD FHVUTHEL » 5K
D A5 fE

(2) % NABE 7 &0 By G(1,-2) » 53K E AL -



B 7% B &

1. RER|3x-5|< IR R B 5 {l -

2. #%a -~ bREE > HEAFN | x—al<bWER-4<x<1> Hla+b=

3. HHE: P(k—2,2k+3)1E55 IR > Al k 1YHEE 5

4. B A(-1,3) ~ B(9,-12) > PESIEAB |- > H AP:BP=3:2 > {I| P %] (1,-4) 2 Bl 5

5. s B2 MR Ry (=7,2) ~ (1L8) » HEVL O Ry (hk) » &Ky r > Al h+k+r=

6. “PATVUIETY ABCD h —{E JHEL &5 A(6,3) ~ C(=5,-1) ~ D(-1,6) > Al BELAAEE By




e
2x 0 x<-—1
EA f(x)= x4+1> —1<x<3
4 » x>3

Z1E
(D) f(2)+f(2)+ f(4) -
(2) f(f(2)) -

AR TSR

Q{E

2E R
x| » x<=2
BERl f(x)=1x+1> -2<x<2 » HETHER
Jx o x>2

ZAE
(1) f(3)+£(0)+f(4) -
(2) F(f(4) -



EMHER2 EHEE RERE

HfQRx-1)=3x+2 » #k fQ) 214 - %f(i—j)zzawl SOk (D) 2 -

E 655 A% FEES Q] 2HER®

EA—E&E (2,-1) ~ (L) 28 EEHPE | KRB y=,f(x)=ax+b > EH f(2)=4 >
AL (k) 0 BKk ZH - fB)=1> K f(D)ZH -




AL

(1) 3K f(x) =2x" —4x + 1A TH B AL A FIARAE -
(2) &K R » 7 0<x<3 » 580K f(x) i -

IR RER(E

(1) &K f(x)=—x"+2x + 5 Ay THBE AL A RIS -
 F5-1<x<2 0 GOK f(x) iR

(2) 7K B

2E R



EENGARE

REE f (x) = x" +x =1 AP 1 §AL
TR 2 B - SRR E -

P

B LS

2ERR

KRB f(x) = %" —x+ 2 [0 /7% 2 B - I
EER 1B BUKGEHTERE -



eATE ).

REZIEA :
(1) a (2) b
(3) ¢ (4) b* - 4ac 2

(5)a+b+c (6)a-b+c o

“RAHERHE
BRI f(x)=ax’ +bx+c BT » 3 HE T

S5 RE

EH f(x)=ax’+bx+c[BIFAT » 3 HEr 5]

BEZIEA
(1) a

3)c
(5)a+b+c

(2) b
(4) b* —4ac

(6)a-b+c




AT E . — T ZRAEX BE RS
sl A TR sl PAIAZER
(1) =x"—=x4+2<0 >  (2)x’—4x+4>0 - (1) x’=x—=120° (2)x*—6x+9<0 °
(3) x*+x+2>0 o (3) x*=2x+3<0 o

AR —FTEZRAREFNX D —4ac<0 RERR

HERAER ax® +2x+3>0 2R B EREEC 3 | B RAER X +ax+1<0 2 fiff Ry fmfig - 50K
KalyauE a HJHEE -






B 3% # &

2x-—1
3x+2

2. f(x) Ry—&RERE > HEJP#ESE 15) ~ (3,-7) ~ ) > Hly=_

1. eﬁ;ﬁf( )=3x2—7x+8 ’ E\[Jf(%):_

3. TREKH y=2x"+bx+c 2 THEVABFE B (—1,7) > Hllb+2c= ° y

4. Fea -~ b cBEH - BTREE Y =ax’ +bx+ c B AE B FTR
HIJBE P(b* —4ac,abc) 11 5 SR
5. T HIR %

(1) 2% +5x+3>0 (2) X+

>2 o

x—3

6. kR BEEBEB I b +dx+ kR R IR - Rl k 2 HEE

7, X%iﬁax2+bx+2202ﬁ£2%—2§xgé Bl atb > 55
8. Hy=f(x)=x"-x-2EPHxEZHP ~ OB ( PIFQHILEM) » FIy &R H R B -

THEE B A - 5K
()P ~ O ~ RAE A, () AAPOITEE




